

Name : _____

Subtracting Fractions

Unlike Denominators

$$\frac{3}{7} - \frac{2}{9} = \frac{13}{63}$$

$$1 \quad \frac{7}{11} - \frac{3}{22}$$

$$2 \quad \frac{13}{20} - \frac{3}{10}$$

$$3 \quad \frac{7}{6} - \frac{7}{10}$$

$$4 \quad \frac{11}{12} - \frac{9}{10}$$

$$5 \quad \frac{8}{15} - \frac{2}{5}$$

$$6 \quad \frac{13}{16} - \frac{3}{8}$$

$$7 \quad \frac{5}{18} - \frac{6}{24}$$

$$8 \quad \frac{3}{16} - \frac{3}{20}$$

$$9 \quad \frac{14}{15} - \frac{11}{20}$$

$$10 \quad \frac{9}{16} - \frac{8}{24}$$

$$11 \quad \frac{7}{20} - \frac{6}{25}$$

$$12 \quad \frac{9}{28} - \frac{6}{21}$$

$$13 \quad \frac{5}{13} - \frac{4}{39}$$

$$14 \quad \frac{6}{13} - \frac{4}{26}$$

$$15 \quad \frac{7}{6} - \frac{2}{7}$$

Name : _____

Subtracting Fractions

Unlike Denominators

$$\frac{3}{7} - \frac{2}{9} = \frac{13}{63}$$

Answers

$$\begin{array}{l} \textcircled{1} \quad \frac{7}{11} - \frac{3}{22} \\ = \frac{1}{2} \end{array}$$

$$\begin{array}{l} \textcircled{2} \quad \frac{13}{20} - \frac{3}{10} \\ = \frac{7}{20} \end{array}$$

$$\begin{array}{l} \textcircled{3} \quad \frac{7}{6} - \frac{7}{10} \\ = \frac{7}{15} \end{array}$$

$$\begin{array}{l} \textcircled{4} \quad \frac{11}{12} - \frac{9}{10} \\ = \frac{1}{60} \end{array}$$

$$\begin{array}{l} \textcircled{5} \quad \frac{8}{15} - \frac{2}{5} \\ = \frac{2}{15} \end{array}$$

$$\begin{array}{l} \textcircled{6} \quad \frac{13}{16} - \frac{3}{8} \\ = \frac{7}{16} \end{array}$$

$$\begin{array}{l} \textcircled{7} \quad \frac{5}{18} - \frac{6}{24} \\ = \frac{1}{36} \end{array}$$

$$\begin{array}{l} \textcircled{8} \quad \frac{3}{16} - \frac{3}{20} \\ = \frac{3}{80} \end{array}$$

$$\begin{array}{l} \textcircled{9} \quad \frac{14}{15} - \frac{11}{20} \\ = \frac{23}{60} \end{array}$$

$$\begin{array}{l} \textcircled{10} \quad \frac{9}{16} - \frac{8}{24} \\ = \frac{11}{48} \end{array}$$

$$\begin{array}{l} \textcircled{11} \quad \frac{7}{20} - \frac{6}{25} \\ = \frac{11}{100} \end{array}$$

$$\begin{array}{l} \textcircled{12} \quad \frac{9}{28} - \frac{6}{21} \\ = \frac{1}{28} \end{array}$$

$$\begin{array}{l} \textcircled{13} \quad \frac{5}{13} - \frac{4}{39} \\ = \frac{11}{39} \end{array}$$

$$\begin{array}{l} \textcircled{14} \quad \frac{6}{13} - \frac{4}{26} \\ = \frac{4}{13} \end{array}$$

$$\begin{array}{l} \textcircled{15} \quad \frac{7}{6} - \frac{2}{7} \\ = \frac{37}{42} \end{array}$$